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QUESTION 1

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The 

customer wants you to define an Inventory Organization that is associated with all the business units and 

not just one particular business unit. 

How do you achieve this? 

A. It is not possible to define an Inventory Organization that is associated with more than one business unit. 

B. Define the Inventory Organization without associating it with any location. 

C. Leave the Management Business Unit field blank in the Inventory Organization definition. 

D. Leave the Profit Center Business Unit field blank in the Inventory Organization definition. 

Correct Answer: A 

 

QUESTION 2

Your client wants certain inventory items of high importance to be counted periodically to improve the 

average level of inventory accuracy. 

What type of counting would you recommend? 

A. Serialized Count 

B. Manual Count 

C. Cycle Count 

D. Zero Quantity Count 

E. Blind Count 

Correct Answer: C 

 

 

QUESTION 3

Your company has established inventory balances integration with 3PL system. Which option cannot be achieved out of
the box using this integration? 

A. Compare and automatically report inventory mismatches. 

B. Purge inventory balance message periodically. 
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C. Resolve processing exceptions. 

D. Import inventory balance message in bulk. 

Correct Answer: A 

 

QUESTION 4

Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own
manufacturing and distribution centers located globally. 

It has these business units: 

US – USA business unit CAN – Canadian business unit UK – UK business unit MX – Mexican business unit IND – India
business unit SPA – Spain business unit FRA – France business unit NL – Netherlands business unit GER – Germany
business unit 

These are the inventory organizations that exist in each business unit: 

Inventory Org – business unit 

GM (Master Org) – US US1 (Child Org) – US US2 (Child Org) – US CA1 (Child Org) – CAN MX1 (Child Org) – MX IN1
(Child Org) – IND SP1 (Child Org) – SPA FR1 (Child Org) – FRA NL1 (Child Org) – NL DE1 (Child Org) – GER 

Which two statements are true? (Choose two.) 

A. Items defined in the GM organization can be assigned to US1,US2, NL1, and MX1 inventory organizations. 

B. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization. 

C. Item organizations are also supported to serve as inventory organizations. 

D. Operational Attributes can be controlled only at the Master Level. 

E. All inventory organizations do not need to be in the same business unit to assign items. 

F. Items cannot be assigned to inventory organizations across business units. 

Correct Answer: AE  

 

QUESTION 5

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order 

Quantity. Assume that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable 

rounding the reorder quantity. 

What will be the reorder quantity? 

A. 24 

B. 30 
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C. 20 

D. 25 

Correct Answer: B 
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